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I end of ' mwn: identifying the nxn of RPNV MW as a p"n for which 7”1 is not liable for errant NN
II 7 mwn: on the other hand, there is liability for y”n of nTin 10 hwMa (v. 4)
a  Application: if he was having n&’a with a "m0V and she told him that she became nxnv,
b Then: if he exits immediately he is liable (as the nw»a also generates nxin)
¢ Context: 7:3 N1 — no liability for (errant nx7n about) ¥”n in the wTpn, but there is for 2w Y™
i »anvand 827(quoting earlier o’pon): if he violates the rule of nw»19, he is onw 27N
ii  Question (737): in what circumstance could he be liable for 2 nixon?
1 If:it was nnon% 7o and he is a n"n — the nwMa is m; if an 0", it’s one NMw
2 If: it was not nnoNY TNY, if NN — PR3 is DR, NWMO is T; if 1", only liable for nw™a
3 Answer (¥27): must be nnon% 7o and n”n who isn’t knowledgable about nw»a
4 Note (837): both rules are explicit in nywn —
(a) Aw2 our mwn
(b) An’x 2:3 0T - if 0T was found on his cloth, they are both n'xnv and liable for j127p
(i) Challenge: perhaps this is a case of nnonY TN RY and it refers to liability for nwna
(i) Block (X275 8anp 72 K78 77): why teach liability for nw»a twice?
(iii) Answer: in 2 n73, since they had to teach nYw Yy 8xm (pav), they taught 15w Yy rxm
(iv) Challenge to »#7x “7: 2 N1y must be nR>1; for nw1a we wouldn't teach ®¥n1 — he already knows
(v) Block: can’t be n&’3, as the wording in our mwn is ¥"n — should be n”>
1. Answer (837): it reads both — nwy (nw9) and n”y (NR71)
d  Addressing liability for w72 he is supposed to wait until his 9aR is “nn” and then exit
i Inference (¥27): if someone has relations with an nn 9aR, he is exempt — else, he’d still be liable here
ii  Block (»ax): perhaps nn wnwn is liable, but here, he’s exempt as he is v1IR
1 Question: if so, why must he wait to exit? He’s onx
2 Answer: he should exit with less n®’a nxin, rather than more.
3 Observation: there is now a parallel “long way” and “short way” in nT1 as well — but they are inverted
iii  Question: how could »aR claim v1IR — he’s the one who ruled that there are 2 n»avn (above)
1 Answer: that was in that case which was nnon% 7nv; in general, he regards it as onR (if “surprised”)
e  Related question regarding nons ppo 5y,
i Source (assumption for 771 IN?2 TMON):v. 1;
ii  Rather: source for "R of nwMa—v. 2
1 Note: this is an nwy — the n" is from v. 1, which can be read as “do not depart” per v. 3
iii V4:source for requirement to avoid relations 1 nn (night or day) before non
iv. Homilies: consequences of abiding by this or violating it (vv. 5-7)
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